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(10)

(18)

11 - 2%

Hi

7t x

44+ 2x=11 - x

"9+ 3x=11- 2x

9+ 3x=11-x

4 -2x=3- 3x

(2)

(5)

(11)

(14)

(17)

x-9=11- 3x

3x- 10 = "2x + 5

11+ 2x = "3x+ 4

3x~10=—x+ 10

3x-10=10- x

1+ x="2x+7

Date:

(3)

(6)

(9)

(12)

(15)

x-8=8- 3x

2x - 11 =10- x

"3-x="3x+ 3

3x - 28="2x+ 7

3x-7=x+5




(5)

(7)

(9)

(11)

22 - B6x = "8x + 12

“65 + 2x = “4x + 31

x—-21 =43 - 3x

74 - 3x =22 - 9x

115 + 9x = 61 - 7x

(2)

(4)

(6)

(12)

3x - 38 = 62 -~ 2x

"4 - x=-"38x+ 12

6x — 54 =23 - x

"3Q + bx = "2x + 52

- 4x - 91 = 107 - 5x

66 + 5x = 121 - 6x




(3)

(5)

(7)

(8)

(1)

"202 + 9x = -4x + 136

"64 + 5x = —x + 62

13x - 63 = 9x + 27

X - 36 =40 + 5x

"85 + 9x = 69 + 2x

“154 - 6x =84 + x

(2)

(4)

(8)

(10)

(12)

"89 - 2x = 120 + 9x

“4x - 109 = 35 - 10x

“2x - 73 = 111 - 10x

226 - 4x = ~13x + 98

—X - 72 ="7x+ 144

21 - 5x = 14 - 6x




